e EBARA

MATRIX
HORIZONTAL MULTISTAGE CENTRIFUGAL ELECTRIC PUMPS







MATRIX

HORIZONTAL MULTISTAGE CENTRIFUGAL ELECTRIC PUMPS
in AISI 304

Horizontal multistage centrifugal electric pumps in AISI 304 stainless steel.

APPLICATIONS

¢ Industrial washing

¢ Pressure boosting units

® Industrial plants

¢ Distribution and treatment of water
® Heating and air conditioning

e Cooling and chiller

® [rrigation

® Recovery of rain water

TECHNICAL DETAILS

e Strong and compact construction

 Available in various versions and models

e TIFQ certified product in compliance to DM 174, pumps are fit for
contact with water intended for human consumption

e Standard version WRAS-approved (up to 85°C)

PUMP TECHNICAL DATA
® Temperature of the liquid:

PERFORMANCE CURVES (according to ISO 9906 Attachment A) from -15°C to +85°C (standard)

usgpm. " W@ W& W B T M WE 10 e from -15°C to +110°C (TE version)
F—— S St S Ay S A A A O A ¢ Maximum working pressure: 10 bar
b FEEH %o * Maximum chlorine content: 500 ppm
™ =SS=as R * Suction connection: G1 for MATRIX 3, G1% for MATRIX 5,
[m] &0 BN a0 [ G1Y2 for MATRIX 10, G2 for MATRIX 18
. . N - e Discharge connection: G1 for MATRIX 3-5, G1% for MATRIX 10,
5 T G1Y2 for MATRIX 18
__I:jl cYREME [
¥ 1055 MOTOR TECHNICAL DATA
x =S=== = EEE 1_8 e * |E3 high energy-efficiency motors starting from 0.9 up to 4.0 kW
. (only for 460V)
2 . > e Self-ventilated 2 pole asynchronous motor
N Y i o ¢ Class of insulation F
R 1 * |P44 Protection rating
N e 220-230V +6%, 60Hz single phase voltage
8 n 220/380V £10%, 60Hz three phase voltage
R 0 4 50 60 B0 10D 0 150 200 250 M0 A0 500 007D 220/460V +10% (IE3* from 0.9 KW up to 4.0 kW) 60Hz three phase voltage
. — ——— T T T T ."["&""] e Permanent capacitor inserted and thermo-amperometric protection with
om0 SR EIN RMERE B A ) automatic rearm incorporated for the single phase motor

e Protection under user’s responsibility for the three phase version
IDENTIFICATION CODE
MATERIALS

MATRIX ,—T—l ,—T—l . ,—T—l ,—T—l / e Cast iron pump body and bracket
SINGLE PHASE

e External pump casing in AISI 304
e Impeller and diffuser in PPE+PS reinforced with fibreglass
MoroR poweR N [KWW] | e Stages in PPE+PS reinforced with fibreglass/PTFE

[ossor5]09] 18] 15]22]30]40]  © Shaftin AISI 416 .
* Mechanical seal in Carbon/Ceramic/NBR

60 Hz mopEL

T: THREADED VERSION

N° OF IMPELLERS

|
l2]af4]5]6]

m3/h AT MAX. EFFICIENCY

OpTIONAL VERSION 3|15 (10|18

The content of this publication should not be considered mandatory. EBARA Pumps Europe S.p.A. reserves the right to change the content without prior notice.

Japanese Technology since 1912 1 MATRIX_60Hz



MATRIX

HORIZONTAL MULTISTAGE CENTRIFUGAL ELECTRIC PUMPS

in AISI 304
MATRIX 3 range PERFORMANCE CURVES (from 2 to 3 impellers) MATRIX 3 range PERFORMANCE CURVES (from 4 to 6 impellers)
(according to ISO 9906 Attachment A) (according to ISO 9906 Attachment A)
0 USgpm 5 ] 15 70 3] n 0 USgpm. 5 0 15 0 5 k]
[ 1 1 1 1 1 1 I 1 1 1 1 1 1
I I T T T T I T T T T T
@ 0 Impgam. 10 15 m 51 0 imagam 5 10 15 0 5
H " H -30 H
Im] == Lo 1M m] == ]
L ] _—
“ ‘h-.__\ . — 144 ot "-—____‘_
I~ Lo By 5! =0
- ™~ - M~ s,
L \\\ oo i “ﬁlsfﬁ]'ﬁqf\\\ - 20
M| T H
3=z 065 N oo M~ Ué& s \'\
150
0 ™~ N 4 ™~ ™ \.\\ e
Ml WFs 60 e HFSH
P ™ [m] [#] “M\Q [m) [#] 100
B i 'D B w
NFSH L+ b NFSH L4+ N il
I 1] — 0
o ! ] ] ]
] Fii) 40 ] 80 100 0 [1/min] 20 40 ] 80 108 Q [1/min]
I T I 1 I T 1 I I T I I I L] I I
0 1 H 3 4 5 [ @[m ] 0 1 2 3 5 5 o [mim)
P2 ——1 ——— P2 L3 gTE/n —
k4] —5}—51?;1:.!. —— 4] 12-—3-516 /1.5 .__’:_-
—3-2T6,/0.65 — 3 4T6 /1.3 |
') 1 1 1 04 | | |
0 H # 0 80 100 0 [\fmin] 0 “@ €0 80 100 @ [1fmin]
0 ¢
n l
® w L—+1 — = w —T1] I —
L] - L] I~
P 0
] a0 40 ] a0 100 0 [1/fmia] bl 40 2] B 108 0 [1/min]
MATRIX 5 range PERFORMANCE CURVES (from 2 to 3 impellers) MATRIX 5 range PERFORMANCE CURVES (from 4 to 6 impellers)
(according to ISO 9906 Attachment A) (according to I1SO 9906 Attachment A)
S N AR N SN M SR S pusesn %W oW % % % % % % F
0 epgpm » 15 » # - % . o mpgan. it T % B f % &
120
189
o H H H b 1
g ] = L M (m) - [n
g — ——
g _— 4 | 3
= [~
2 ] Ao o 0 - [~ g
El # <2 " —— g
g ™~ 120 I L 0 -
g F——1_] ~ —— T
g [t 5 \\ e = SN |- 200
& —__ 53 s
s --.__‘___i:e/a_ \\ o ""---..____‘__ﬂ's/z?r\“\\ \\
g I A L
1 NN ; RNBNN .
g WFs [80 (=]
g ™ [l [4] NN (m [0 |- 109
] ~ ~
g = 0 al®
2 NPSH 7 M2 HPSH | |50
5 ——] —— o - —— 1
%’ ] o o
3 &0 ] 150 o [1/min] 50 100 150 @ [1fmin]
E‘ T T T T T T T T T T T T 1 T T T T T T T T T T T T 1
£ 0 i 1 3 4 5 6 7 ] H i i@ [min) o i b 3 i 5 [ 7 ] § it it i)
g [ — BT |
z [E:] —5-3T6/1.3 — [::] —5-6T6/3.0 —
g I L1 5T /3.0 — T
H ua——S—EIﬁfﬂ.,\\ —— 18 —5-576/2.2 ——
s I I = L5476 /20—
g o1 |1 I I |
s 0 100 150 0 [1fmin] o 50 100 150 0 [1/min]
z 7
£ n "
% k4] ) [ — Ml % w | +— |
z |~ ™~ = ™~
g
3 n ®
g 0 0 100 150 0 [3/min] 50 100 150 0 [1/min)

Japanese Technology since 1912 2 MATRIX_60Hz



MATRIX

HORIZONTAL MULTISTAGE CENTRIFUGAL ELECTRIC PUMPS

in AISI 304
MATRIX 10 range PERFORMANCE CURVES (from 2 to 5 impellers) MATRIX 18 range PERFORMANCE CURVES (from 2 to 3 impellers)
(according to ISO 9906 Attachment A) (according to ISO 9906 Attachment A)
ID u.snmlq 2|u a;a 4In 5Io slu '.:a aln In USgpm ;rln 4In aln sf: ullo 1fo 170
0 magam 10 n % 10 s & ™ O ipgam 20 w0 o 5 100 120
H B H I "
Im) “‘---.___h_-raxs;rs/w ~ 50 [#] Im] = = o [
== 8.
— ] o \\ o "‘-ii?’f{{a 40
4?3/3_0 \ A ‘-\\ |
- 1 oo = \\\\ “H‘H““ﬂ"‘* J \\
T NN N
e "~ b, L
- I I s bt E‘iﬁ!’sﬂls \""-... \\ ﬁqm m ""\\\\I N
-—-...."--._.._____‘ \\.:x\ ) 5 \\ lr:m] — B0
e I ____>< ) 0 50 a:Ea: _::
5 AP o
0 o ] B — ] ° ]
o ED 160 0 Q [1,fmin] 200 0 0 [1fmin]
0 2 H £ H i 1z " ® EQ [m3m) ¢ H 10 15 n P 3 o [m 3]
4 I 1 4
P: L 10-5T6/40 - P2 NE m—
R e o Lol
—Ilo—zTIG,ﬂ.‘l |
- o B 160 40 4 [1/min] - 00 40 1 [1/min]
n Ll
£} L —" [ — L
N
" o ] 160 0 Q [1fmin] . 00 400 0 [1/min]
PERFORMANCE TABLE
Model P, Q = Flow Rate
Single phase Three phase I/min__ 25| 40 60 80 100 | 130 | 160 | 220 | 280 | 340 | 400 | 460 | 500
220-230V 220/380-460V [HP] | [kW] m®h 1,5 24 3,6 48 6 78 96 | 132 | 168 | 204 24 27,6 30
H=Head [m]
MATRIX 3-2T6/0.65M | MATRIX 3-276/0.65 09 |065] 306 281 | 238 | 181 | 108 -
MATRIX 3-3T6/0.9M | MATRIX 3-376/0.9 12 1 09 | 460 420 | 367 | 272 | 162
MATRIX 3-4T6/1.3M | MATRIX 3-4T6/1.3 18 1 13| 61,0 560 | 475 | 362 | 21,6
MATRIX 3-5T6/1.5M | MATRIX 3-5T6/1.5 20 | 15| 765 706 | 595 | 4565 | 27,0
- MATRIX 3-6T6/2.2 301 22 920 845 | 715 | 545 | 324 - -
MATRIX 5-2T6/0.9M | MATRIX 5-276/0.9 12 1 09 - 314 | 298 | 278 | 254 | 203 | 126
MATRIX 5-3T6/1.3M | MATRIX 5-3T6/1.3 18 | 13 470 | 450 | 415 | 381 | 305 | 189
- MATRIX 5-4T6/2.2 30 ] 22 630 | 595 | 5556 | 510 | 405 | 252
MATRIX 5-5T6/2.2 30|22 785 | 745 | 69,5 | 63,5 | 510 | 315
- MATRIX 5-6T6/3 40 1 30 940 | 895 | 835 | 760 | 610 | 378 - -
MATRIX 10-276/1.5M | MATRIX 10-2T6/1.5 20 | 15 - - 31,7 | 308 | 294 | 27,7 | 219 | 122
- MATRIX 10-3T6/2.2 30|22 475 | 465 | 440 | 415 | 328 | 183
MATRIX 10-4T6/3 40 | 3,0 635 | 615 | 590 | 855 | 435 | 244
MATRIX 10-5T6/4 55140 790 | 770 | 735 | 695 | 545 | 305 - - - -
MATRIX 18-2T6/3 40 | 3,0 - - - 316 | 300 | 282 | 255 | 216 | 162 | 12,0
MATRIX 18-3T6/4 55140 475 | 450 | 425 | 383 | 324 | 243 | 18,0

The content of this publication should not be considered mandatory. EBARA Pumps Europe S.p.A. reserves the right to change the content without prior notice.

Japanese Technology since 1912 3 MATRIX_60Hz



MATRIX

HORIZONTAL MULTISTAGE CENTRIFUGAL ELECTRIC PUMPS

in AISI 304
DIMENSIONS
A !
o2 ¥ =) T i1
g iT
o HE
=
DIMENSIONS TABLE
Model Dimensions [mm] Weight
D1 D2 B c F H3 H4 L R T w [Kg]
Single phase * [1] [2] [1] * *
MATRIX 3-2T6/0.65M 360 - 171 103 - 200 | 865 | 1515 | PG11 - - 88+97 | 98
MATRIX 3-2T6/0.65 360 - 171 103 192 - - 151,5 - PG11 |M16x1,5| 88+97 | 97
MATRIX 3-376/0.9M 360 - 171 103 - 219 106 | 1515 |M20x15| - - 88+97 | 117 -
MATRIX 3-376/0.9 372 372 171 103 192 - - 15616 - PG11 |M16x1,5] 8897 | 124 | 124
MATRIX 3-4T6/1.3M 1 1" 421 - 198 127 - 226 112 | 1755 |M20x1.5| - - 88+97 | 147 -
MATRIX 3-4T6/1.3 421 446 198 127 209 - - 1755 - PG11 |M16x1,5| 88+97 | 144 | 153
_ | MATRIX 3-5T6/1.5M 458 - 198 151 - 226 112 | 1995 |M20x15| - - 88+97 | 16 -
¢ | MATRIX 3-5T6/1.5 458 471 198 151 209 - - 199,5 - PG11 |M16x1,5| 88+97 | 17,8 18,7
£ | MATRIX 3-6T6/2.2 482 495 198 175 209 - - 2235 - PG11 |M16x1,5| 88:97 | 183 | 192

1]= Three phase only
2]= Single phase only
Models with IE3 motor only

200U Joud JnoLIM Wjuoo 8y} 8BUBLD 0} JyBU 8L} Seiesel y'd'S adoing sdlund Ve “AIoJepUBL PRISPISUOD 84 10U PNOYS U

Japanese Technology since 1912 4 MATRIX_60Hz



MATRIX

HORIZONTAL MULTISTAGE CENTRIFUGAL ELECTRIC PUMPS

[1]= Three phase only
[2]= Single phase only
* Models with IE3 motor only

in AIS| 304
DIMENSIONS
B
Dz _ y et T
FIG. 1
H::E
[ f | |
® = — Z| =
) 3L
E B
3 @
F ¥ £ 2
R 57 108
C 148
165
i
|
I}
———
B
D2 ¥ 3
FIG. 2
I -
g8 & /H“‘ - % G 1/8
L]
T - _G )
7 \““ @ [l|=r 7 G1/8
5 - u A
= £
F W Ll M1 5
R W2 %
g
DIMENSIONS TABLE e
Model Dimensions [mm] Weight ©
Fig.. D1|D2| H | H1 B C|F H3H4|L | R T W | W1 | W2 | M1 | N2 | N2 | §1 [Kgl %
* [11 2] [2] [2] * ¥k
MATRIX 5-2T76/0.9M 360 - |171]103| - |219/106/151,5|M20x1,5 - - 88+97 6] - ¢
MATRIX 5-2T76/0.9 372|3721171]103|192| - | - [1515 - PG11 |M16x1,5|88+97 1231123 &
MATRIX 5-3T6/1.3M ] 397| - [198]103] - [226]112|151,5|M20x1,5 - - 88+97 140 - ¢
MATRIX 5-3T6/1.3 1" 17 39714221198103[209| - | - [1515 - PG11 |M16x1,5/88+97 138 | 14,7 &
MATRIX 5-4T6/2.2 434144711981127 1209 1755 PG11 |M16x1,5 88+97 16,7 1176 &
MATRIX 5-5T6/2.2 - | - |45814711198/151[209 199,56 PG11 |M16x1,5/88+97| - - - - - - |1691178§
MATRIX 5-6T6/3 2 90 11901554564 - [1751214| - | - 12775 - PG13.5 IM20x1.5| 1175 | 125 | 155 | 30 | 140 | 170 | 9 2241224 ¢
MATRIX 10-2T6/1.5M - | - [429] - 12021118| - |2261112|170,5|M20x1,5 - - 192+101] - - - - - - |148] - B
MATRIX 10-2T6/1.5 1 42914421202(1181209| - | - [170,5 - PG11 |M16x1,5/92+101 16,5174 B
MATRIX 10-3T6/2.2 1% (1" - | - 14291442]202| 118|209 170,5 PG11 M16x1,5192-101] - - - - - - [163]172°¢
MATRIX 10-4T6/3 9 90 [19015311531| - 148|214 2545 PG13,5 IM20x1,5| 1215 | 125 | 155 | 30 | 140 | 170 | 9 [227122,7 ¢
MATRIX 10-5T6/4 10012001574 574 1781241 274 PG16 M20x1.5] 111 | 140 | 170 | 35 | 160 | 192 | 11 [26.0126.0 ¢
MATRIX 18-2T6/3 o | o |17y 90 [190527 | 527 1411214 250,5 PG13,5 IM20x1,5| 124,5 | 125 | 155 | 30 | 140 | 170 | 9 [216]216%
MATRIX 18-3T6/4 2[100/200]540]540 1411241 240 PG16 IM20x1,5] 114 | 140 | 170 | 35 | 160 | 192 | 11 (2541254 £

MATRIX_60Hz

Japanese Technology since 1912



FeAnA MATRIX

HORIZONTAL MULTISTAGE CENTRIFUGAL ELECTRIC PUMPS
©inAISI 304

SECTIONAL VIEW

T S 813 0

LR M0 300 25 52 18

@
WA FUM PUMY THE: AR 3=T)
/ [ ma—:mﬁ]
\ AT W-3TE Y

1R M SIS R E 4 3 B 11 42 ¥ H1 N2722 ¥ K L 15

SECTIONAL VIEW

D
o)

g { { | \
@ P ®I®mnmms g LR nmnHs

100 81 8BUELO 0} uBU 8 senesel “y'd'S doing sdwing yyg3 “AojepueL paispIsuod aq Jou pinoys uoiealand siu:

Japanese Technology since 1912 6 MATRIX_60Hz



MATRIX

HORIZONTAL MULTISTAGE CENTRIFUGAL ELECTRIC PUMPS

in AIS| 304
MATERIALS TABLE
Ref. Name Material Ref. Name Material
1 Casing EN 1.4301 (AISI 304) 33 | Shaft sleeve (adjustment) EN 1.4301 (AISI 304)
3 Bracket EN AB-AISi11Cu2(Fe) 34 | Screw EN 1.4301 (AISI 304)
4 Casing cover EN 1.4301 (AISI 304) 42 | Foot Aluminium
6 Shaft with rotor - 50 | Motor spacer [2] Aluminium
6-1 | Pump Shaft EN 1.4301 (AISI 304) 52 | Capacitor box [3] ABS class V-0
7 Impeller EN 1.4301 (AISI 304) 53 | Capacitor box cover [3] [4] ABS class V-0
1 Standard mechanical seal Ceramic/Carbon/EPDM 56 | Box gasket NBR
High temperature mechanical seal Ceramic/Carbon/EPDM 58 | Ring nut -
12 | Motor frame with stator - 59 | Conic gasket [3] NBR
13 | Motor cover Aluminium 60 | Intermediate casing EN 1.4301 (AISI 304)+PTFE
14 | Fan PAG 61 | Intermediate casing (suction) EN 1.4301 (AISI 304)+PTFE
15 | Fan cover Fe P04 Zinc-coated 63 | Intermediate casing (discharge) EN 1.4301 (AISI 304)+PTFE
16 | Terminal board - 68 | Shaft sleeve (intermediate) EN 1.4301 (AISI 304)
17 | Terminal box cover [1] Aluminium 69 | Impeller spacer EN 1.4301 (AISI 304)
18 | Splash ring NBR 75 | Washer (plug) EN 1.4301 (AISI 304)
19 | Bearing - 76 | O-ring EN 1.4301 (AISI 304)
20 | Bearing - 77 | O-ring EPDM
21 | Adjusting ring Steel C70 78 | Washer (plug) EPDM
22 |Tierod Fe 42 Zinc-coated 90 | Cover box gasket [4] NBR
24 | Plug EN 1.4301 (AISI 304) 91 | Shaft washer EN 1.4301 (AISI 304)
25 | Plug EN 1.4301 (AISI 304) 92 | Lip seal -
26 | O-ring EPDM 93 | Lipseal -
29 | Washer EN 1.4301 (AISI 304) 200 | Screw EN 1.4301 (AISI 304)
30 | Ring holder EN 1.4301 (AISI 304) 201 | Screw Steel 8.8 strenght class ISO 898/1
30-1 | Shaft sleeve (adjustment) EN 1.4301 (AISI 304) 230 | Washer Steel C70
30-2 | Shaft sleeve (adjustment) EN 1.4301 (AISI 304)
[1] Only for three-phase
[2] Only for 10-5T6/4 and 18-3T6/4
[3] Only for single-phase
[4] With gasket in NBR only for version single phase 3-2T6/0.65M, 3-3T6/0.9M, 5-2T76/0.9M
MECHANICAL SEAL STANDARD VERSION MATERIALS TABLE
Ref. Name Material
1 Stationary seal ring Ceramic
2 Rotary seal ring Carbon
3 Gasket EPDM
4 0O-Ring EPDM
5 | 0-Ring EN 1.4402 (AISI 316)
6 Spring EN 1.4402 (AISI 316)
HE: | 7 Retainer ring EN 1.4402 (AISI 316)
=
MECHANICAL SEAL HiGH TEMPERATURE MATERIALS TABLE
Ref. Name Material
4 6 5 7 21 1 | Stationary seal ring Ceramic
\ L.L/ 2 Rotary seal ring Carbon
\ 3 | Gasket EPDM
Q 4 ]10-Ring EPDM
5 0O-Ring EPDM
6 | Spring EN 1.4402 (AISI 316)
....... z 3 § 7 | Retainer ring EN 1.4402 (AISI 316)
[ T

Japanese Technology since 1912

MATRIX_60Hz

The content of this publication should not be considered mandatory. EBARA Pumps Europe S.p.A. reserves the right to change the content without prior notice.



MATRIX

HORIZONTAL MULTISTAGE CENTRIFUGAL ELECTRIC PUMPS

in AISI 304
ELECTRIC DATA TABLE
Model P, Efficiency | Capacitor Efficiency (%) Efficiency (%) P, Absorbed Current
Single| Three | Single phase | Three phase 380V | Three phase 460V |Single|Three [A]

[HP]|[kW]|phase phase| uF V. n % n % phase|phase| Single Phase |  Three Phase
50% | 75% [100%| 50% | 75% 1100% | [kW1] | [kKW] | 220-230V 1220V 380V 460V
MATRIX 3-2T6/0.65M | MATRIX 3-2T6/0.65| 0,9 |0,65 14 | 450 | - - - - - - 1097109 47 28 | 16 | 15
MATRIX 3-3T6/0.9M | MATRIX 3-3T6/0.9 | 1,2 | 0,9 - 25 | 450 | 80,7 823|815 |779 817|827 |134]150 6.3 38 | 22 | 22
- MATRIX 3-3T6/0.9 | 1,2 | 0.9 IE3* | - - 1848|845 (827|820|8441845| - [1,30 - 40 | 23 | 22
MATRIX 3-4T6/1.3M | MATRIX 3-4T6/1.3 | 18| 1.3 - 35 | 450 | 78,3804 81,0765 813834170200 7.7 57 133129
- MATRIX 3-4T6/1.3 | 1,8 | 1,3 IE3* | - - | 8541865857 /830/858/866| - |175 - 53 | 31129
MATRIX 3-5T6/1.5M | MATRIX 3-5T6/1.5 | 2,0 | 1.5 - 35 | 450 | 8241830822 |795|829|838|1,88|2950 87 81 | 47 | 43
- MATRIX 3-5T6/1.5 | 2,0 | 1.5 IE3* | - - |1889/888|872|863/885/884| - |248 - 75 | 43 | 441
MATRIX 3-6T76/2.2 | 3,0 | 2,2 - - - 18241830/822|795/829/838| - |29 - 81 | 47 | 43
- MATRIX 3-6T6/2.2 | 30| 2.2 IE3* | - - 18891888 /872|863/835/884| - |248 - 75 | 43 | 44
MATRIX 5-2T6/0.9M | MATRIX 5-276/0.9 | 1,2 | 0.9 - 25 | 450 18071823|815|779]81,7|827134]150 6.3 38 | 22 | 22
MATRIX 5-2T6/0.9 | 1,2 | 0,9 IE3* | - - 18481845827 (820/844/845| - |130 - 40 | 23 | 22
MATRIX 5-3T6/1.3M | MATRIX 5-3T6/1.3 | 1,8 | 1,3 - 35 | 450 | 783804810 765]81,3|834/1,70]200 7.7 57 133129
- MATRIX 5-3T6/1.3 | 1,8 1,3 IE3* | - - 1854865857 1830858|86| - |175 - 53 1 31129
MATRIX 5-4T6/2.2 | 30| 2,2 - - - 18241830[82]795]829|838| - 1290 81 | 47 | 43
MATRIX 5-4T6/2.2 | 30| 2,2 IE3* | - - 1889/888|872|863|885|834| - |248 75 | 43 | 44
MATRIX 5-5T6/2.2 | 3,0 | 2,2 - - - 1824/830[822]795/829|838| - |29 81 | 47 | 43
MATRIX 5-5T6/2.2 | 30| 2,2 IE3* | - - 1889/888|872|863/885|834| - |248 75 | 43 | 441
MATRIX 5-6T6/3 | 4,030 - - - 1840/859|8521802|835[846] - |390 105 | 61 | 56
- MATRIX 5-6T6/3 | 4,030 E3* | - - - - 1875 - - 1885 - [342 - 1021 59 | 56
MATRIX 10-2T6/1.5M | MATRIX 10-2T6/1.5 2,0 | 1,5 - 35 | 450 | 82,4(830/822|795|829 838188290 8.7 81 | 47 | 43
- MATRIX 10-276/1.5] 2,0 | 1,5 IE3* | - - 1889|888 |872|863/885|834| - |248 - 75 | 43 | 44
MATRIX 10-3T6/2.2| 3,0 | 2,2 - - - 18241830/822|795/829838| - |29 81 | 47 | 43
MATRIX 10-3T6/2.2| 3,0 | 2,2 IE3* | - - 1889/888|872|863/885/884| - |248 75 | 43 | 41
MATRIX 10-4T6/3 | 4,0 | 3,0 - - - 18401859852 |802|835|846| - |390 105 ] 61 | 56
MATRIX 10-4T6/3 | 4,0 | 3,0 IE3* - - | 875 - - |885] - 342 102 ] 59 | 56
MATRIX 10-5T6/4 | 5,5 | 4,0 - - - 1832/858/86,1|810/851/867| - |510 - 1471 85 | 80
MATRIX 10-5T6/4 | 55| 4.0 IE3* | - - 18971896/86|861/834/885] - |45 - 1351 78 | 76
MATRIX 18-276/3 | 4,0 3,0 - - - 184018591852 /802/835/846| - |390 - 10561 61 | 56
MATRIX 18-276/3 | 4,0| 3,0 IE3* - - |875] - - |885] - 342 - 102] 59 | 56
MATRIX 18-3T6/4 | 55| 4,0 - - - 1832/858/861|810/851/867| - |510 - 1471 85 | 80
MATRIX 18-3T6/4 | 55| 4,0 IE3 | - - 18971896886 |8611884[835| - |452 - 135] 78 | 7.6

* Only for 460V

“20(ou Joud JnoLIM 1ejuoo 8y} 8BUBLD 0} 1Bl 8L} Seesel 'S adoing sdlund YHyES “AIoJepUBL PRiSPISU0D 8q 10U PNOYS UOREAANd SIu} 0 1BU00 syL

Japanese Technology since 1912 8 MATRIX_60Hz






EBARA Pumps Europe network

Heap OFFice

EBARA Pumgs Europe S.p.A.
Via Pacinotti

36040 Brendola (VI?J Italy
Phone +39 0444 7 6811 - Fax +39 0444 405811

ltalian Sales (for order only):
e-mail: ordini@ebaraeurope.com

Export Sales (for order only):
e-mail: exportsales@ebaraeurope.com

Technical Customer Service (T CS):
e-mail: tcs@ebaraeurope.co
Phone +39 0444 706869/902/923/833

Marketing & Marketing Communication:
e-mail: marketing@ebaraeurope.com

The contents of this publication should not be considered binding. EBARA Pumps Europe S.p.A. reserves the right to make changes considered appropriate without prior notice.

ITALIAN SALES NETWORK

NORTH-EAST Region

g rentino Alto Ad/ge Veneto Friuli Venezia Giulia,
‘milia Romagna)

Regional Mana er mobile: +39 335 6423308

e-mail: nord@ebaraeurope.com

Phone +39 0444 706811 - Fax +39 0444 405811

NORTH-WEST Region:
alle d’Aosta, Piemonte, Lombardia, Liguria,
egional Manager mobile: +39 335 532727
e-mail: mktgmi@ebaraeurope.com
Phone +39 0444 706811 - Fax +39 0444 405975

CENTRAL Region:

g oscana, Umbria, Marche, Lazio, Abruzzo, Molise)
egional Manager mobile: +39 335 6423286

e-mail: centro@ebaraeurope.com

Phone +39 0444 706811 - Fax +39 0444 405811

SOUTH Region:

g)ampan/a asilicata, Puglia, Calabria, S:c:l/a)
egional Manager mobile; +39 335 6423316

e-mail: sud@ebaraeurope.com

Phone +39 0444 706811 - Fax +39 0444 405811

INDUSTRIAL Division:

Manager mobile: +39 335 6423302

e-mail: industry@ebaraeurope.com

Phone +39 0444 706811 - Fax +39 0444 405811

WASTEWATER Dlvision:

Manager mobile: +39 335 6423290

e-mail: ses@ebaraeurope.com

Phone +39 0444 706811 - Fax +39 0444 405811

CAGLIARI Branch:

Via del Fangario, 29

09122 Cagliari

Phone +39 070 274281 - Fax +39 0444 405960
Branch Manager mobile: +39 335 6423320
e-mail: mktgca@ebaraeurope.com

PALERMO Branch:

Via Don L. Sturzo, 181/183

Z.I. - 90044 Carini (PA)

Phone +39 091 8669790 - Fax +39 0444 405980
Branch Manager mobile: +39 335 6423316
e-mail: mktgpa@ebaraeurope.com

Export NETWORK

EBARA Pumps Europe S.p.A. UNITED KINGDOM
Unit 7 - Zodiac Business Park

High Road - Cowley Uxbridge

Middlesex - UB8 2GU, United Kingdom

Phone +44 1895 439027 - Fax +44 1895 439028
e-mail: mktguk@ebaraeurope.com

EBARA ESPANA BOMBAS S.A.
C/Cormoranes 6 Y 8

Poligono Ind. La Esta0|on

28320 Pinto (Madrid), Spa

Phone +34 916.923.63 Fax +34916.910.818
e-mail: marketing@ebara.es

EBARA Pumps Europe S.p.A. FRANCE
555, Rue Juliette Recamier

69970 Chaponnay, France

Phone +33 4 72769482 - Fax +33 805101071
e-mail: mktgf@ebaraeurope.com

EBARA Pumps Europe S.p.A. GERMANY
Ferdinand-Porsche-Ring 7

63110 Rodgau-Jiigesheim, Germany
Phone +49 (0) 6106-660 99-0

Fax +49 (0) 6106 660 99-45

e-mail: mktgd@ebaraeurope.com

EBARA POMPY POLSKA Sp. z o.0.

ul. Dziatkowa 115

02-234 Warszawa, Poland

Phone +48 22 3909920 - Fax +48 22 3909929
e-mail: mktgpl@ebaraeurope.com

EBARA Pumps Europe S.p.A INDIA LIAISON OFFICE
1503,Bhumiraj Costarica,

Sector-18, Paim Beach Rd.

Sanpada, Navi Mumbai

Maharashtra, Pin: 400705 - India

Phone +91 22 2781 2862

Fax +91 22 2781 2865

e-mail: mktgind@ebaraeurope.com

EBARA Pumps RUS Ltd.

Prospekt Andropov 18, building 7, floor 11
115432 Moscow

Tel. +7 499 6830133

e-mail: mktgrus@ebaraeurope.com

S.C.100  04/16

Via Pacinotti, 32

www.ebaraeurope.com

EBARA Pumps Europe S.p.A.

36040 Brendola (Vicenza), Italy
Phone +39 0444 706811 - Fax +39 0444 405811
e-mail: ebara_pumps@ebaraeurope.com

E BARA Corporation

11-1, Haneda Asahi-cho, Ohta-ku,

Tokyo 144-8510

Japan

Phone +81 3 6275 7598 - Fax +81 3 5736 3193
www.ebara.com




